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R (X} B {m} AARZDHIDENE, BEBHMEER P = (p;), XF
n>m>0, BABKIE B={X,, =i} B, 83X A={X,,—-1=j} 5Bx%
C = {xm—l-l - im—‘rl; Xm+2 - im+27 te 7Xn — ln} ZEjZ, FEL\/Lﬁ

P(A|BC) = P(A|B).
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P(Xm—l = jy Xm = 7/) T5Pji
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M, —EHBERE
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2 APXo=i)=m i, WFEATn=m+1, B
P(Xmt1 =1, Xm = J) = Tjpji = TiDij
= P(Xo = i, Xomi1 = j).
XIRAAEN 2.1 (2) PEEXT n=m+ 1 3. F n=m+2, BHIE
P(Xm+2 = iva+1 = .77X’m = k)
= P(Xm = k)P(Xm1 = j|Xom = k) P(Xmi2 = i|Xmi1 = j)
= (mkpr;)Pji = (PjkT;)Pji = Pik(TiDji) = Pik(TiDiz)
= P({Bm =1 Xm+1 :j,Xm+2 = k))
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(2) H{X,} BRI, XNFBRER ¢ LARM i B j BOEE

iy —>dg — = ip — § (BB PiiyPiria - Pips > 0). BX
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(1) BsREAT, 1B
P(Xo=14,X1 =11,Xo =79, , Xy = ip, Xp—1 = 19)

=TiPii1 Pivio ** * Pig_1ixPigis

P(Xpp1 =14, Xy =11, -+, X1 =i, Xo = 1)
=P(Xo=14,X1 =i, Xo =i — 1,--+ Xp =11, Xp 1 =10)
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PiiyPirio ** * Pig_1ixPigj _ Pij1Pj1jo * " Pjsj
PjirPigix_1 ***PizisPivi  Pjjaliajer = Diri

XHIUERA T n; FEEEVIERTTX.
ST B RiE E%z%zl—mgé Cip — j F 0 B j RORERS
i 1= o = - = s — i, R EER AR IESE]
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PjirPigip_1 = Pigiy Pivi
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(1) BIERM (3.1) Bizfs, B (3.2) TEXITRMUFS {n;}; &L (3.2)

8 {n;}, BRIE {n;} #&E njpjr = nkpkj, J.k € 1. ALEEE, W {n;}

BRI, BNEEXNFMUFS, BRREES .
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XERFEIHE (3.2) AIIFMEFFRERS Y-, ny = oo B, DERHEAR
EERMN. ARIEEL, R {X,} REBRN, EANFRMUFIIEE, AL
'ffl: (3 1) E‘Z_L T2 {Xn} ﬁ__l—lg/\zﬁ {77]} Iﬁlli TiPij = TjPjis i,j €1 HE“H:
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poip12 - Pi-1i P T

B Pbiop21 - Pii—1 qA
_ boiP12 - Pn—1,n p
biopP21 - Pnn—1 q

BILARATREGIE {n;} BXIFREF,
P
nopor = 1 = ;q = m1p10,
i1 b
NiDijit1 = 719 = FQ = Nit1Pit+1,i, L <1< n—2,

n—2 n—1
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BRfE I =1{0,1,---} PIEBENIIEEN, BiEBHER LR
Pi=\1—p, JMji=i—1,i>1,

Hf por=po=1, Hi>10F, pie(0,1).

(1) UEBREERBHER {p;;} FAEXIFRILES 0

(2) KEEFBHER {pi;} B RAESHBHNRDUERM,
(3) B {pi;} BFRAZED MRS VERM.
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(1) RRBRREERESERaE—E. ® ¢ =1-pi, 5IA

Mo = 17
m= Pboipi2 - Pi—1,i _ Pop1 - Pi—-1
Piop21 - Pii—1 q1q2 - - q; ’

LAOTREEE {n:} EXFREEFES:
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1> 1.

Nopor = 1 = @(h = MDPio,
q1
Pop1 - Pi1 ceems
NiPi,i+1 = P Pi = pop1 P qi+1
q14q2 - - q; q1q92 " - - Qi+1

= Nit+1Pit1,i, ¢ > 1.
(2) @R c=mo+m+-- <o, W 7; = n;/c BFRENEST,; BUSEREARIEFERY,
FREETEDRAFE, FiA {pi;} AFREEDTHNRDOUELEHEHRE ¢ < .
(3) H (2) MEDEHESENFESBERHR « < co, FFETRRENHITHVE

FMHBR c < 0. O
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